—10

mm

—10.5

—11

—11.5

—12

mm

BFM_¥1.0AT;1 O5—17—2008 11:1G:47

200

1 1 1
1030 1505 200005 2500

Avg (100 turns/avg)

BFM_=1.0AT;1 O05—17—2006 11:1656:28

200

1030 150 20008 2500

Avg (100 turns/avg)

1500

1200 -

Q200 —

s00 -

oG -

100G

RHMS

aod

BOg —

400 -

200 -

Average= |

" o184’
o082

a
—0.8

—0.3

o a.3

I’?‘i

File 00323 electrons, H position (top), Vposition (bottom) (not pedestal subtracted)
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File 00324 (like 00323, but pedestal subtracted)
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File 00326 electrons, H position (top), Vposition (bottom) (not pedestal subtracted)
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File 00327 (like 00326, but pedestal subtracted)
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File 00329 electrons, H position (top), Vposition (bottom) (not pedestal subtracted)
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File 00331 electrons, H position (top), Vposition (bottom) (not pedestal subtracted)
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File 00332 electrons, H position (top), Vposition (bottom) (pedestal subtracted)
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